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Question No. 1

AT, ARTar AT ayar Frwow __ F o+ 7]

A) ARIT wifd B) WA shifar

C) 31ARGAT shifd D) &&Y wifd

The inspiration of Liberty, Equality and Fraternity was derived from-

A) Indian Revolution B) French Revolution

C) American Revolution D) Russian Revolution

Answer Key : B Your Response : Not Answered

Question No. 2

aY seToie UsT P 3R Q, T &F Y Heer-3renT HAT: 10 6 AR 12 6 F o g §
33eae 9y R §, S & @ 30 Hel i qft o & @relr W whar gl I wolr umy v Ay

g S ¢, dF &F F qfr e A A F e AT Rem?
A) 6 € 40 fAse B) 6 &< 30 fAsie
C) 14 ©¢ 45 fAeic D) 5 &< 30 fAse

Two inlet pipes P and Q can fill a tank in 10 hours and 12 hours separately. There is an outlet R
that can let out water from the tank fully in 30 hours. If all the pipes are opened simultaneously,

how much time will it take to fill the tank completely?

A) 6 hours 40 minutes B) 6 hours 30 minutes
C) 14 hours 45 minutes D) 5 hours 30 minutes
Answer Key : A Your Response : A (Correct)

Question No. 3
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LY, IP, G, (), TA
A) HD B) DL

C) VT D) IP

Find the missing group of alphabets in the following series.

LY, IP, GI, (...), TA

A) HD B) DL
C) VT D) IP
Answer Key : A Your Response : Not Answered

Question No. 4

Ifg 9 oW 3R 12 o5, fhl 1 o 4 T 7 Q@ = T § AN 4 7 AR 16 735 3
HH F 6 oA F qU F Tha § o 6 GOl AN 24 aH Fr 3W FA F QU WA F Fockew
HHI @em?

A) 7 e B) 4 ot
C) 6 et D) 5 fea

If 9 men and 12 boys can do a piece of work in 4 days and 4 men and 16 boys can do the same
piece of work in 6 days, how long will 6 men and 24 boys take to complete the same work?

A) 7 days B) 4 days
C) 6 days D) 5 days
Answer Key : B Your Response : B (Correct)

Question No. 5

el T g & #4782

A) T EJ HT ST5cd BIaT & B) IE a¥q & A g &

C) Ig a&] CaRT HAE &Tthoel Bl & D) ¥§ d¢ oo g, @ gzl 38 uer 3R
SSC Adda247 R wl &1 Engineers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

What is the weight of an object?
A) ltis the inertia of the object B) Itis the volume of the object

C) ltis the area occupied by the object D) It is the force with which it is attracted
towards the Earth

Answer Key : D Your Response : D (Correct)

Question No. 6

10 &t & fpw arv aer fr FEait 1, 3, 2, 5, 8, 6, 4, 7, 1 3Rk 9 fr AfCIFI(median) AT
o

A) 7 B) 4

C) 8 D) 4.5

Find the median value for the number of goals in 10 matches 1, 3, 2, 5, 8,6, 4, 7, 1 and 9.

A) 7 B) 4
C) 8 D) 4.5
Answer Key : D Your Response : D (Correct)

Question No. 7

i@ ser #F eae § ¢ 3R AT Re 31w 92sT Fr 3R &l

s =fFa- M, N, O, P, Q, R, S 3R T, v daF & fav ve ge@R A1 & aRT 3K &g 6
N FRFISEIMSFATAGE AARE ANFIC AN AT REIP,RF
a0 ¥ G VAT W, Sir S AR M & & 7 dar 81 O, N a1 Q Fr gsilr =76t 8

famfaf@a & ¥ =l @ Q $ir @fr =fa 82
A) N @& gU § g&l T T B) N & &8 3R TeheH STl &
C) P & TS 3R TheH 9Tl H D) N & &8 3R UdhcH 9T
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Eight persons— M, N, O, P, Q, R, S and T are sitting around a circular table for a meeting
facing center. M is second to the right of S who is third to the right of N. P is second to the left of
R who sits between S and M. O is not a neighbour of N or Q.

Which of the following is the CORRECT position of Q?

A) Second to the right of N B) To the immediate right of N
C) To the immediate right of P D) To the immediate left of N
Answer Key : B Your Response : B (Correct)

Question No. 8

fRw 1w Rewedl F & reraT @ ol
A) 1321 B) 27
C) 729 D) 125

Find the ODD one out from the given options.

A) 1321 B) 27
C) 729 D) 125
Answer Key : A Your Response : A (Correct)

Question No. 9

IRNSS & quf & R 87

A) 33 o AfFeee gkl R[es B) 397 Ja9ar U AWiditelhdd  dsfefhe
TeaST

C) sf3aeT Ioadr Afaaee dcase [red D) ScIaAeadl e ATdeeT Jease [rea

What is the expansion of IRNSS?

A) Indian Rural Navigation Searching System B) Indian Renal and Nephrological Scientific
Studies

C) Indian Regional Navigation Satellite D) International Rocket Navigation Satellite
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Answer Key : C Your Response : C (Correct)

Question No. 10

faf@a 7 & F9 a6 #2019 F PMAR AW a¥ & AT ART F FTa@ TToo AT OiiRa
fRar =T ar?

A) S3T® B) feeall

S

C) &N D) d=eis

Which of the following cities was adjudged India’s cleanest city for the third straight year in
2019?

A) Bengaluru B) Delhi
C) Indore D) Chennai
Answer Key : C Your Response : C (Correct)

Question No. 11
AL Fa # Higg O g3t & 9w = §2

A) BER, R, fefoar B) ¥R, Udidd, [Eei3™@
C) 3T, 3o, & D) &gFRE, gHell, ffe3m

What are the names of the three bones in the middle ear?

A) Femur, hammer, tibia B) Hammer, anvil, stirrup
C) Radius, ulna, hammer D) Humerus, clavicle, stirrup
Answer Key : B Your Response : Not Answered

Question No. 12

ar AR quitet a, b & LCM d1d sl

A) 4ab B) ab/2

C) ab D) 2ab

Find the LCM of two consecutive integers a and b.
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C) ab D) 2ab

Answer Key : C Your Response : C (Correct)

Question No. 13

frfaf@a & @ Fle w1 FgRSE F1 AFVT A 577 872
A) IRET B) ST9TST

C) sifam D) daTem

Which of the following is a popular folk dance of Maharashtra?

A) Garba B) Bhangra
C) Dandiya D) Tamasha
Answer Key : D Your Response : D (Correct)

Question No. 14
'faRg a=gelia feaw, 2019 #r fAwTr-aw] = g2
A) A AR STerarg aRad= B) #HGHIT &1 alel FIefeAl &I Jaolel HT B
C) el & o Sfaet : &l 3R 7)5 & fw D) oot ud fRaw - ot & 9o e 6

What is the theme of "World Wildlife Day', 2019?

A) Wetlands and climate change B) Act to change laws that discriminate
C) Life below water: for people and planet D) Forests and education — learn to love
forests
Answer Key : C Your Response : A (Wrong)

Question No. 15

few 17 et & & rwea & A
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O] D)

Find the ODD one out from the given options.

A) I B)

0 D)

==

| = 1 |

Answer Key : A Your Response : A (Correct)

Question No. 16

arerot 8 Hier W Forar § AR A & P 5 AT Tadr &1 Y TF a0 J3ar § 3R 3@
3% WA H IR 3R forr B 3w a7 IR Rig & frw w7 2

A) gfgior giegs B) 3cR 4@
C) 3caR ufRaH D) cfaror qd
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is facing north. Which direction is he now from the starting point?

A) South west B) North east
C) North west D) South east
Answer Key : D Your Response : Not Answered

Question No. 17

PleT AT eeg M QT T Hefer A Fafeasr o1 & qOT F@m?

AT & FEIA ; ?
A) HIGUT B) &

C) susd D) dd

Which word will best complete the relationship given below?

Grain : Stock :: Paper : ?

A) Collection B) Heap
C) Bundle D) String
Answer Key : C Your Response : C (Correct)

Question No. 18

aY 9137 P, Q, T & F a3 12 3R 15 e & 1 dFa §1 P, 4 Bee & v @er
ST § 3R s X RAr ST 1 AT A6 FF Q E@RT SRS F e FAT Fqem?

A) 11 fAsC B) 9 fA=c
C) 12 fAeie D) 10 f&se

Two pipes P, Q can fill a cistern in 12 and 15 minutes separately. P is open for 4 minutes and
turned off. In how much time will the remaining part be filled by Q?

A) 11 minutes B) 9 minutes
C) 12 minutes D) 10 minutes
Answer Key : D Your Response : D (Correct)
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Question No. 19
A) ghol B) el elfadd

C) ST ¥ D) 3RE]

"Systema Nature" was written by -

A) Haeckel B) Carolus Linnaeus
C) John Ray D) Aristotle
Answer Key : B Your Response : B (Correct)

Question No. 20
fafaf@a F & Fla A1 vewsa FordT Aol FT 9ger TEET 87
A) U B) ¢
C) wrarss D) #Hd=

Which of the following is the first member of alkyne homologous series?

A) Ethyne B) Ethene
C) Propyne D) Methane
Answer Key : A Your Response : D (Wrong)

Question No. 21

| x b x h f3AT arer g7 & | x 0.5b x 0.4h AT Il d&ar & T I Fer AT &1 Iod B
gl d&dt fr F&ar g S|

A) 20 B) 10

C) 4 D) 5

A cuboid with dimensions | x b x h is cut to get planks measuring | x 0.5 b x 0.4 h. How many
planks will you get?

A) 20 B) 10
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Answer Key : D Your Response : A (Wrong)

Question No. 22

forely 3cuie Y fashr T g3 A 25% Bl AR AT R T Aed & ARl A WER See
far ST, ot Rraer ufarea $r @i g

A) 20% @ gy B) 12% & gifer
C) 25% #r gifer D) 16% @1 gifer

The profit on the sale of a product is 25%.What will be the loss per cent, if the values of cost
price and selling price are interchanged?

A) Loss of 20% B) Loss of 12%
C) Loss of 25% D) Loss of 16%
Answer Key : A Your Response : A (Correct)

Question No. 23

T JTHT HEAT Fal AT §7?
A) dGAF B) &frdTer
C) a3 ool D) &gieet

Where is the Forest Research Institute located?

A) Lucknow B) Bhopal
C) New Delhi D) Dehradun
Answer Key : D Your Response : Not Answered

Question No. 24

i@ F 3 frast sftwan deeh sdwia Alsg aa &2

A) P B) Al

C) Si D) Na

Which of the following exhibits maximum number of valence electrons?

SSC Adda247 Engineers Adda247
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C) Si D) Na

Answer Key : A Your Response : C (Wrong)

Question No. 25

HTRfFAT MgO + CO— Mg + CO, &, frT Ueryy &1 3iferdRoT @ar &2
A) HIARTH B) Il HAANFAES
C) #Hefwe 3iferarss D) &e SS3iFarss

In the reaction MgO + CO— Mg + CO», the substance oxidised is-

A) Magnesium B) Carbon monoxide
C) Magnesium oxide D) Carbon dioxide
Answer Key : B Your Response : B (Correct)

Question No. 26
T & @ @l @1 A1 AT WR F T FREET TR war §?
A) aiferar B) #AfFds®: SaX

C) D T D) ST

a

Which of the following diseases affects the blood cells in the human body?

A) Polio B) Meningitis
C) Small pox D) Leukemia
Answer Key : D Your Response : D (Correct)

Question No. 27

afg frdr FHesmsT 3 'MISTAKE' &t 9765412 forar sirer § 31 'RANKED' #r 348120 for@r arar
g, r 38 T F 'DISTANT' & & forar Smeem?

A) 0756485 B) 0765485

C) 0765458 D) 0765845

TPNSAREM L coded as 9765412 and 'RANKED' is coded as 3481300 s s ASISRad
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coded?

A) 0756485 B) 0765485
C) 0765458 D) 0765845
Answer Key : B Your Response : B (Correct)

Question No. 28

foTRe 3e gt W 5 greY v =t 9 €7
A) S8R Uhs UISd HeT g EYUT @ Feld & B) GieX Uardt H goe @ gy FHl W

o) I O e g1
C) TREX gy 3o il & Uk IR 3N D) 30 Yerd i aote @ 3w q¥ller 3nar §
HeI & YeTel A gl 3R g e @ S §

Why do gymnasts apply some coarse substance on their hands?

A) To increase friction for better grip B) The coarse substance makes the hands

slip on the ground easily

C) The coarse substance gives a shiny, D) The substance causes to sweat more and

beautiful look to their hands the hands become wet

Answer Key : A Your Response : A (Correct)

Question No. 29

AWM AN A, IR IANFEBS A EaRT A a1 S gl
A) fafeer B) e
C) @Iea AIATFASS D) e Teer

In blast furnace, iron oxide is reduced by-

A) Silica B) Carbon
C) Carbon monoxide D) Limestone
Answer Key : C Your Response : C (Correct)

Question No. 30

SSC Adda247 Engineers Adda247
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(@a+4),(a-35), (@a-25),(@-3),(a-2),(a+05), (a+5) 3K (a - 05).
A) a-25 B) a- 075

C) a- 1.25 D) a-15

Find the median of the discrete values.
(at+4),(a-3.5),(a-2.5),(a-3),(a-2), (a+0.5), (a+5)and (a-0.5).

A) a-25 B) a-0.75
C) a-1.25 D) a-1.5
Answer Key : C Your Response : A (Wrong)

Question No. 31

30 eeT & 999 #, A HHd & o Fead (7) & 0T W@
s & fow wafeas sugaa &

_EIRSER

A) B)

0 D)

L2
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Choose the alternative that best replaces the question mark(?) in the

given figure.
9[1]9
313137
A B
) ) 1
4

O] 2 D)

3
Answer Key : D Your Response : B (Wrong)

Question No. 32

Uh Thel A, Fof OEF A & 12% OF @ # 3= §1 F o6 T § 3/4 gredaw afafafeat &
o @A €, Tl OB A F 10% TNT q¥g A §1 AT 15 S, SRFT afafafedt F smr g
o TE §1 o B P HEA AT A

A) 500 B) 400

C) 600 D) 450

In a school, 12% of the total number of students are good in sports. 3/4th of the total number of
students are interested in co-curricular activities, 10% of the total number like music. The
remaining 15 students do not want to participate in the above activities. What is the total

number of students?
A) 500 B) 400
C) 600 D) 450

SS@risdeaRey/: A Your Response : A (Coengineers Adda247
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Question No. 33

et & § Fi W1 9qrd, O 3 & 3TNRT T R FleleT SEIHFAST ScqewT 6T FLM?

A) FIATAT B) e

C) T G D) Sfer @Er

Which of the following substances will NOT give carbon dioxide on treatment with dilute acid?

A) Marble B) Lime
C) Limestone D) Baking soda
Answer Key : B Your Response : Not Answered

Question No. 34

1916 &1 &> FAFIAT fhash 9T g3m an?

A) AR T FIE AR 3 ST AREHA B) AT R TR
ofraT

C) ffeer awepr 3R 3ifer STear HREwH oifer D) $RAT TS g 3R ofeer aer

The Lucknow Pact of 1916 was made between-

A) Indian National Congress and All India B) The moderates and the extremists
Muslim League

C) British Government and All India Muslim D) Indian National Congress and British

League Government

Answer Key : A Your Response : A (Correct)

Question No. 35

QST AT i TAYAT T dr 315 A?
A) 1947 B) 1975
C) 1965 D) 1950

When was the Planning Commission set up?

#3C1edida247 B) 1975 Engineers Adda247
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C) 1965 D) 1950

Answer Key : D Your Response : D (Correct)

Question No. 36

fArfaf@d gerdf it 3% Hefta sqadaiat & IR F7 7 afdyd w1 - 9, Fw, 9

A) &, 96, 9 B) drg, urel, @

C) uwel, arg, &= D) @, arg, drel

Sort the following materials in ascending order of their respective refractive indices - Water,
Glass, Air.

A) Glass, Water, Air B) Air, Water, Glass
C) Water, Air, Glass D) Glass, Air, Water
Answer Key : B Your Response : A (Wrong)

Question No. 37

freT "= Fr 10, 9 3R 8 ¥ - AT ¥ W FAw: 9, 8 3R 7 AP d=ar ¢l
394 ¥ OO B8 §E&T A fifaw)

A) 1359 B) 359

C) 719 D) 353

A number when divided by 10, 9 and 8 separately leaves remainders 9, 8 and 7 respectively.
What is the least of such numbers?

A) 1359 B) 359
C) 719 D) 353
Answer Key : B Your Response : B (Correct)

Question No. 38

faega s W wefiia Rega #r War 100 W F =1 A 82

A) ded 9fd € 100 S fdegd il =ad B) ded Uid s 100 S fdegd Il <@g

AT Bl AT Tl
SSC Adda247 Engineers Adda247
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Y T ¢l T B

What does the power rating 100 W on an electric bulb mean?

A) The bulb consumes electrical energy of B) The bulb consumes electrical energy of

100 Joule per hour 100 Joule per second

C) The bulb consumes electrical energy of D) The bulb consumes electrical energy of
100 kilo Joule per hour 100 Joule per minute

Answer Key : B Your Response : B (Correct)

Question No. 39

T HAAHR 3T A oiars AR <5 & & &7 3equra 3:2 81 Iafe ve safda s & @
& TRt 3T 12 RRelveer A 9 § TR gad gU 8 Ade # ve g QU Har §,
3¢ H 8Fhd qT A # AT ffSw)

A) 15360 T #Hex B) 307200 a1 #Hex

C) 30720 &aF Hex D) 153600 @3 Hex

The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 km/h completes one round in 8 minutes, find
the area of the park in square metres.

A) 15360 m? B) 307200 m?
C) 30720 m? D) 153600 m?
Answer Key : D Your Response : D (Correct)

Question No. 40

e 10.8 FT x% = 32.4 &, A 'X' & AT AT hifSw]
A) 200 B) 100

C) 300 D) 400

If X% of 10.8 = 32.4, then find 'X".
A) 200 B) 100

£3CAdda247 D) 400 Engineers Adda247
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Answer Key : C Your Response : C (Correct)

Question No. 41
AeTg RN 7 FaW TR A 7 Al aca Pl @r §7?
INREIER IR B) e
C) aTsgrstst D) e

The most abundant element in the human body is-

A) Oxygen B) Carbon
C) Nitrogen D) Calcium
Answer Key : A Your Response : A (Correct)

Question No. 42

TEIHIS & I Foil F TH0I T F IR Bhahr AT §57?

A) TR F ARG B) golargiel
C) =geiad D) wWelsd

ax

Rutherford's alpha particles scattering experiment resulted into the discovery of-

A) Nucleus in the atom B) Electron
C) Neutron D) Proton
Answer Key : A Your Response : C (Wrong)

Question No. 43

59 W ¥, A FYr & a1g QY sy e aw §1 37 fsmi(sh) @ gof, S o w7 @ wefaw
39geFd gl

CGH

1 R o AL ¥
S (?;Edda247 Engineers Adda247
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2) FI$ MG g ALt ¢

fasd:

. S AR <G 7E¥ B

Il. Tl g A

A) o ar sy | 3R F & sy |l 3uged g1 B) Shad fAshy || 3UgEd g

C) #de fashy | 3ugd ¢l D) fasey | 3R 1l &l & 3ugerd Bl

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) No lion is tiger.
2) No tiger is leopard.

Conclusions:
I. No lion is leopard.
Il. All leopards are lions.

A) Neither conclusion | nor Il follows B) Only conclusion Il follows
C) Only conclusion | follows D) Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 44

e W Al 98 TERM 1T 5, e aore & IF & A & Rw$ aar 87

A) TGHT FT 39T JeIT Bl B B) TGHT I g & T e B
C) JgAT Yedr & IR AR gAal dld HAA D) FF & Y g W 931 § AR @ig
3TET YT TTod T B TR feeam g fewrs & Bl
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A) Moon has it's own light B) Moon gets light from Earth

C) Moon gets light from artificial satellites D) Sunlight falls on moon and the illuminated
revolving around the Earth part of the moon is visible to us

Answer Key : D Your Response : D (Correct)

Question No. 45

@ Fr 9§ G, ST THer O Fr svafdd s 3R e W Feaa = & 1 w1 W g
38 AT Fgl AT 872

A) 3ERT B) @IfetdT
C) Yelelr D) o

The structure of the eye which serves to refract and focus light rays upon retina is called -

A) lris B) Cornea
C) Pupil D) Lens
Answer Key : D Your Response : A (Wrong)

Question No. 46

A=Al & ¥ e T B & AT AT

5/11, 3/15, 12/11, 4/7, 9/12
A) 12/11 B) 3/15

C) 477 D) 9/12

Find the greatest among these fractions.

511, 3/15, 12/11, 4/7, 9/12

A) 12/11 B) 3/15
C) 4/7 D) 9/12
Answer Key : A Your Response : A (Correct)
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IfE a&g F 15 o BiFer g G IaA ST F A 25 A FY g W @ WAm g, ar
yfafda @ gy v 71T ¥

A) 32.5 @Y B) 38 @&r
C) -32.5 Q= D) -37.5 @+

If object is placed at 25 cm in front of a concave mirror of focal length 15 cm, then find out the
image distance v.

A) 32.5cm B) 38 cm
C) -32.5cm D) -37.5cm
Answer Key : D Your Response : D (Correct)

Question No. 48

Aol @ ot Pl

AAZ, FEX, KIU, POQ, (..)
A) UUL B) WUO

C) XUP D) UUR

Complete the series.

AAZ, FEX, KIU, POQ, (...)

A) UUL B) wWUO
C) XuUp D) UUR
Answer Key : A Your Response : A (Correct)

Question No. 49

cos 55° + sin 55° T AT AT HITATI

SSC Adda247 Engineers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

A) B)

2 sin 35° 2sin 10°

O] D)

2 cos 35° N2 cos10°

What is the value of cos 55° + sin 55°?

A) B)
2 sin 35° 2 sin 10°
O D)
2 cos 35° V2 cos10°
Answer Key : D Your Response : Not Answered

Question No. 50

ffaf@a F & sl @1 fasf@ & s 9% & I & AsEnT §7

A) TR B) &3

C) #FSer D) @3emer

ggtec’g 8&%‘5 Jo}lowing is a host in the life cycle of tape worm? Engineers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

A) Pig B) Monkey
C) Fish D) Rabbit

Answer Key : A Your Response : A (Correct)

Question No. 51

faeT & & *ler ar grhr [Rensr 18t 82
A) SauTe &g B) fAerer donfAeTr erepar
C) HA«ARI crgar D) &g ofmehr

Who among the following is NOT a hockey player?

A) Jaipal Singh B) Mishal Banjamin Lakra
C) Manohar Topno D) Birendra Lakra
Answer Key : B Your Response : Not Answered

Question No. 52

Rrafae & & S a1 A Re 70 day B walecs o7 & O FRo?

MOQ : STW :: ACE : ?
A) GHK B) HKG

C) KIH D) HIK

Which of the following will best complete the relationship given below?

MOQ:STW: ACE:?

A) GHK B) HKG
C) KIH D) HIK
Answer Key : A Your Response : A (Correct)

Question No. 53

V- AAARZS o 7 AmeIRoT ST %.660 ¥, ST sAGT i o WA TR G ACHARCGARE
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AT $.696.30 &1 sIST X AT S|
A) 12.75% B) 13%

C) 10% D) 11%

On a sum of money, the Simple Interest for 2 years is Rs.660 while the Compound Interest for
two years is Rs.696.30, the rate of interest being the same. Find the rate of interest.

A) 12.75% B) 13%
C) 10% D) 11%
Answer Key : D Your Response : D (Correct)

Question No. 54

IR X FITHE, Y IIFTXEIR "FTIFTTE (I x2)+Bx4)-@x5+9
FT AT AT HifaT]

A) 3 B) 21

C) 12 D) 9

If 'x' means '+, '+' means 'x' and - means '+, then find the value of (1 x2) + (3x4)-(4 x5) +9.

A) 3 B) 21
C) 12 D) 9
Answer Key : B Your Response : B (Correct)

Question No. 55

Aol @ ot Pl

540, 270, 90, 45, 15, (..)
A) 7.5 B) 6.8

C) 7.9 D) 6.5
SSC-Adda247 EngineersAdda247
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Complete the series.

540, 270, 90, 45, 15, (...)

A) 7.5 B) 6.8
C) 7.9 D) 6.5
Answer Key : A Your Response : A (Correct)

Question No. 56

Sta T FEaT @ R e garT fRsnoia T Sirar 8, oY Authe 24 T9dr &1 59 36 dE
& SR I 3W HIslw c@rT AT fhar ST 8, o Auher 15 w=ar §1 $isih A1 HY

A) 23 B) 33
C) 9 D) 35

A number when divided by a divisor, leaves a remainder of 24. When twice that number is
divided by the same divisor, the remainder is 15. What is the divisor?

A) 23 B) 33
C) 9 D) 35
Answer Key : B Your Response : C (Wrong)

Question No. 57

3o J1fa seT & AU aRRY §5ds HuR FT UH AS gl

A) siesr f3faee B) Shdivd ae1
C) 8VSB D) LTE

is a standard for wireless broadband communication for high speed data.

A) Dolby digital B) Gps one
C) 8VSB D) LTE
Answer Key : D Your Response : D (Correct)
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3 R ¢ T &A% AT HIfAT, S 440 ey TR are god & IRT IR Tam=T /=T §
AR forehr dters 7 Arex 8

A) 3856 T HX B) 3204 Fa1 #HiexX
C) 3900 gsf #Hiex D) 3234 gt Hiex

What is the area of a circular track that runs around a circle with circumference 440 m, having a
width of 7 m?

A) 3856 m? B) 3204 m?
C) 3900 m? D) 3234 m?
Answer Key : D Your Response : Not Answered

Question No. 59

e T TH &9 8
A) frerfde B3 B) feIfdeT B2
C) faerifa= B4 D) Reiffer B

Niacin is a form of-

A) Vitamin B3 B) Vitamin B2
C) Vitamin B4 D) Vitamin B1
Answer Key : A Your Response : A (Correct)

Question No. 60

Ry AR FesmT #, 'NATION' $F 'OCWMTT' fr@r Sirer &1 3 Fesmsr & 'COUNTRY" &
FO @r smeen?

A) DCXRYCF B) DPXRYXF

C) DQXRYXF D) DCXRYXF

In a certain code, 'NATION' is coded as 'OCWMTT'. How would 'COUNTRY" be written in that
code?

Secgt4r B) DPXRYXF Engineers Adda247
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C) DQXRYXF D) DCXRYXF

Answer Key : C Your Response : C (Correct)

Question No. 61

IE 3x -y = 5§, ar 8/2Y &1 A AT Hifaw]
A) 32 B) 64

C) 256 D) 16

If 3x - y = 5, find the value of 8%/2Y.

A) 32 B) 64
C) 256 D) 16
Answer Key : A Your Response : A (Correct)

Question No. 62

Rw v et # ¥ s T
A) 2:5 B) 1:2
C) 3:12 D) 4 : 17

Find the ODD one out from the given options.

A) 2:5 B) 1:2
C) 3:12 D) 4:17
Answer Key : C Your Response : C (Correct)

Question No. 63

U A R G A A FOIGAT 9:2 ¥ G F SR F WAI Al A I 28 aF A T A
3y et 82

A) 4 a§ B) 12 a¥
C) 8 a¥ D) 6 a¥

Ages’sidiaméifer and daughter are in the ratio 9 : 2. The daughter wasThtghneres the ceotibf
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was 28 years. How old is the daughter?

A) 4 years B) 12 years
C) 8years D) 6 years
Answer Key : C Your Response : C (Correct)

Question No. 64

U A MR G Ay I F AT 12:5 T &H € a1g, A H WY, & § e @l gdAe F
3T Y FT AT AT g7

Ages of a mother and daughter are in the ratio 12 : 5. Ten years hence, she will be twice as old
as her daughter. What is the sum of their ages at present?

A) 85 B) 65
C) 60 D) 75
Answer Key : A Your Response : A (Correct)

Question No. 65

?mﬁwﬁﬁﬁﬁmﬁﬁﬂﬁ,ﬁaﬁﬁmwﬂzﬁﬁwm
|

= g B ? ° °
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Choose from the alternatives the figure that best completes the
pattern given below.

A oo R ° ™

0 D)
o O
o il o
o 0
Answer Key : D Your Response : D (Correct)

Question No. 66
"l g fRE A ¥ Hafta &7

A) TR B) gihr

C) ae® D)

The term "Bogey" is associated with-
A) Swimming B) Hockey
C) Golf D) Tennis

SSaixaeaRe;’ c Your Response : Not AnsuRgéneers Adda247
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Question No. 67

& o1 gl F fraeh deh W 2

A B
)16 )

19

0 14 D)

How many straight lines are there in the given figure?

L B)

19
O 14 D)
SSC Adda247
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Answer Key : C Your Response : C (Correct)

Question No. 68

gT F TS FT Aed W a9 Wlﬁ%?faﬂmﬂmm?r%ﬁv
oy # forg afequra & el TR srer anfge?

A) B)

o)) D)

In what ratio should water be mixed with some milk to gain 15%‘}3

on selling it at cost price?

A) B)

0 D)
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Answer Key : D Your Response : D (Correct)

Question No. 69
ATt ot W Wl g g3t & wfaier ov R wena ger 82

A) &HH & I B) 3rgeriad @ gl
C) e &l D) #T0g & el &l

What happens to the resistance of all pure metals on raising the temperature?

A) Decreases B) Remains unaffected
C) Increases D) Becomes negligible
Answer Key : C Your Response : C (Correct)

Question No. 70

ffaf@a SR #F &t & 9 3R iy e arw wReT &1 3R &

aa FfFaar - P, Q, R, S, T, U 3R V & 3(a9r-3r9r 1 - ARaN, e, abe, ord, &7, el
IR der g § AfheT SR AT F S wA 7 g 39 Wl &t reer-areer odle § (A 3%
S e R 58 A 8

S # el #r diF & O @lel @ olF &, 39 o 1 Wi &1 P @ der &1 wie #
fore $Rer 7 ol &, 3@ &0 T WG §1 U Fr Alrae & et &1 S 3R U, A&t B & Fren
@1 T ¢ §1 O er 3R R F el §, 3/ w1 w6 G R

P @ Rrfr #1 ol gt &1 O Sehr @ el &, 3§ A6 3K wihg ot wHE A& & S #
TN T g STEr &1 T wr eitm A o Slser & A T & @S {1 T Y &7 o1 g AS §1 V
&I g 3R Frer T qHg @ gl Q F e HRar 76 B
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Afef@a & ¥ Y FRer #r e &2
A) P B) V

C) R D) Q

Read the following information carefully and answer the question given below.

Seven persons— P, Q, R, S, T, U and V like different colours—orange, blue, white, red, green,
black and yellow, but not necessarily in the same order. They all have different hobbies (or they
like different activities) driving, swimming, sailing, shopping, running, dancing and camping, but
not necessarily in the same order.

The hobby of S is driving. The one whose hobby is shopping likes red colour. P likes yellow
colour. The one whose hobby is camping likes green colour. The hobby of U is sailing. Neither
S nor U likes black colour. The one whose hobby is dancing, and swimming does not like black
colour. The hobby of P is not swimming. The one whose hobby is swimming does not like
orange and white colour; S does not like orange colour. The hobby of T is neither running nor
shopping. T does not like green colour. V does not like green and black colour. The hobby of Q
is not camping.

Who among the following has the hobby of camping?

A) P B) V
C) R D) Q
Answer Key : C Your Response : Not Answered

Question No. 71

A) B)
157/68 68/157
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0 D)

5/46 21/110
1
Evaluate: —F
2+ 7
3 +_1
4+-—
5
A) B)
157/68 68/157
0 D)
5/46 21/110
Answer Key : B Your Response : B (Correct)

Question No. 72
s ¥ Bl FieT TUB AT § TEfld Th ARG AAfoe FRSAT &2
A) T8ealeT X B) V. Aifger AR
C) v Af@w D) #ET Urea

Who among the following is an Indian social activist associated with Narmada Bachao

Andolan?
A) Silverine Swer B) V. Mohini Giri
C) Patricia Mukhim D) Medha Patkar

Answer Key : D Your Response : Not Answered
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Question No. 73
fPrfaf@a # & i @1 e Preaw H ae F I
A) a3t B) emaeT AteT faerdet
C) Tt &I Urelt D) aféhar AtEr e

Which of the following will turn blue litmus red?

A) Vinegar B) Washing soda solution
C) Limewater D) Baking soda solution
Answer Key : A Your Response : A (Correct)

Question No. 74

3H NPT # T84T #, A AEASa Ao & d % F5Ew @t
Tafeas &1 ¥ el & &
o, MY, FUATA, Ao

A) B)

0 D)
V|
[ : .:] _J;

Choose the figure that best represents the relationship among the
classes given below.
Word, Sentence, Alphabet, Paragraph

A) B)
SSC Adda247 Engineers Adda247
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O] D)

Answer Key : D Your Response : D (Correct)

Question No. 75
Ife Ry eafer aer #r amgfeT 50 géor 8, o SHH Al A HfT
A) 0.02 @& B) 0.2 @&s
C) 0.05 Tz D) 0.5 @3

If the frequency of a sound wave is 50 Hz, then what is its time period?

A) 0.02s B) 0.2s
C) 0.05s D) 0.5s
Answer Key : A Your Response : B (Wrong)

Question No. 76

deades i |

A) FI I AR FaYUAH HFT gar & B) s# & Tl

C) Taegd & Farelh 81d § D) 5o arel WABT H Foleclall T AR
CaRT §e1d @

Covalent compounds-

A) Have low melting and boiling point B) All of the options

§§c’>£%| 8%& A:?nductors of electricity D) Are formed by the éfrll%rin 8Fse,|&8t&)ar§ 4n/.

the bonding atoms
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Answer Key : B Your Response : B (Correct)

Question No. 77

HAT oi€TS $r & ¢ T Sl ad 9T A IR Hiel & v HeAer: 10 s 3R 15 J&hs & 9677
ol €1 I IAF & Fr o g 120 AT §, A § Rodd 2w 7 Iow w1 g o 7AT F
qE # IR H&M?

A) 15 d%s B) 12 @%s
C) 10 @%s D) 20 ¥&s

Two trains of equal lengths take 10 seconds and 15 seconds respectively to cross a telegraph
post. If the length of each train is 120 m, in what time will they cross each other traveling in the
opposite direction?

A) 15 seconds B) 12 seconds
C) 10 seconds D) 20 seconds
Answer Key : B Your Response : D (Wrong)

Question No. 78

g8 OIS ¥ B &I AT A9, G 1780 F Sy W ured et qot &t 8N

A) 72 B) 69

C) 49 D) 46

Find the least number to be added to 1780 to make the sum a perfect square.

A) 72 B) 69
C) 49 D) 46
Answer Key : B Your Response : B (Correct)

Question No. 79

fArfaf@a Aol # epuieafa 3R g aa i)
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A) GT B) DP

C) WC D) OM

Find the missing group of alphabets in the following series.

JD, LI, (...), SP, XR

A) GT B) DP
C) wWC D) OM
Answer Key : D Your Response : D (Correct)

Question No. 80

Taafa® gt P #r 3 = g2
A) TAEIIH B) urRfRms
C) BRI D) drelifaas

The chemical symbol P stands for-

A) Palladium B) Potassium
C) Phosphorus D) Polonium
Answer Key : C Your Response : C (Correct)

Question No. 81

39 W A, AT FYAl F aC @ AR RE aw §) 37 Aswd(eh) A oA, S A w7 @
waifeF 3ugad gl

Y
1) $& FlT AT §l
2) FE ot e, gfer AEt &I

SSC Adda247 Engineers Adda247
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sy

l. F7 § F7 FS FW FAC ¢

Il. P IATEHT FIRT & &l

A) fssd | 3R 1 Qe & 3o E B) der ey || 39ged Bl

C) shadl fasey | 3UgFT g D) & o fasehy | 3R & & sy |l 3ugeFd &

In this question, three statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) Some flats are apartments.
2) No apartment is a hall.

3) Some halls are rooms.

Conclusions:
|. At least some rooms are flats.
Il. No apartment is a room.

A) Both conclusions | and |l follow B) Only conclusion Il follows
C) Only conclusion | follows D) Neither conclusion | nor Il follows
Answer Key : D Your Response : D (Correct)

Question No. 82

%.800 #r TR ATYRUT AT f T ARTT gT W 3 asf #F $.956 g S &1 I sa=r Hir T
4% 9¢ ST §, o $.800 fr R 3 auf & e g smeaf?

A) %.1020.80 B) %.1054

C) %.1052 D) %.1025

%CBR\%B%&)WS Rs.956 in 3 years at a certain rate of Simple Interest. éfnta?nrggergf Arggraeﬁt4|§
increased by 4%, what amount will Rs.800 become in 3 years?
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A) Rs.1020.80 B) Rs.1054
C) Rs.1052 D) Rs.1025

Answer Key : C Your Response : C (Correct)

Question No. 83

HIET-31T T Hae ¥ Tl
A) ofFced 3Fd B) &=t
C) golel D) HeleT

The organ of Corti is concerned with-

A) Lactic acid B) Seeing
C) Hearing D) Balancing
Answer Key : C Your Response : Not Answered

Question No. 84

AT qF F A Hg FF @31 g1 97 N €N H FAY 3@ §, IE 3 doF F GAY @l g
ue 3R fere v gear waer: R R i 3R S aer 82

A) 98 3R 3R B) aferor 3R ud
C) gfgyor 3Rk uftas D) ufR=e 3R 3e®

Mani is facing east. He looks time in his watch, it shows as 3 O'clock. Which direction do hour
and minute hands point respectively?

A) East and north B) South and east
C) South and west D) West and north
Answer Key : B Your Response : A (Wrong)

Question No. 85

ey AR gesmr #, 'ABC DEF' ' 'ZYX WVU' far@r Sirar g1 3 esmsr 3 'ADULT' &r
¥ forar seem?

AICANId247 B) ZWFOR Engineers Adda247
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C) ZWFOG D) ZFWOU

In a certain code, 'ABC DEF' is written as 'ZYX WVU'. How would 'ADULT' be written in that
code?

A) ZWUOuU B) ZWFOR
C) ZWFOG D) ZFWOU
Answer Key : C Your Response : C (Correct)

Question No. 86

I 3R el Fr Feor & TFH 30T 2l
INREEIGIPREE B) Haraa fAsor
C) ToessT (Suspension) D) ramssr faeae

A mixture of sand and sugar is an example of-

A) Heterogeneous mixture B) Homogeneous mixture
C) Suspension D) Colloidal solution
Answer Key : A Your Response : A (Correct)

Question No. 87

fRT ST oo’ & AART ST 8§72
A) 20 AT B) 22 AR
C) 23 A D) 21 &AM

When is 'World Water Day' observed?

A) March 20 B) March 22
C) March 23 D) March 21
Answer Key : B Your Response : Not Answered

Question No. 88

8T TR A O A0 R A G A I o gF w1 9% A B HAT TSR
Ugd I$| IHA Thel 3HS W & fhw faww & ar?
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A) cferor qfeas B) 3ccR @
C) 3ccR UiRaH D) af&ror qa

Hema starts from her home eastward in order to go to school. She took right turn and took left
to reach school. Which direction was her school from home?

A) South west B) North east
C) North west D) South east
Answer Key : D Your Response : D (Correct)

Question No. 89

a7 '0' vk fAsysr ABC &1 9RA™ § 3R OD,BC W &« g, ar o
Z/BOD I A AT HFTI

A) B)

90°- LA 24A

0] D)

ZA (1/2)£A

If 'O’ is the circumcentre of a triangle ABC and OD is perpendicular to
BC, then find £BOD.

A) B)
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90°- LA 274A

O] D)

LA (1/2)£A

Answer Key : C Your Response : C (Correct)

Question No. 90
AR & ST A 5T & ae W & v 9fdg 82

A) HERTSC B) 3Ter wcer
C) el D) Feilcsh

Which state of India is famous for the snake boat races?

A) Maharashtra B) Andhra Pradesh
C) Kerala D) Karnataka
Answer Key : C Your Response : C (Correct)

Question No. 91

T °3 AU A Y HT AG| 7 ToT 10 e O, g B gE rcif

A) 215° B) 60°

C) 210° D) 200°

A clock started at noon. By 10 minutes past 7, the hour-hand will move through
A) 215° B) 60°
C) 210° D) 200°
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Question No. 92

fw arv Rwedt & & T B
A) B B) D
C) E D) P

Find the ODD one out from the given options.

A) B B) D
C) E D) P
Answer Key : C Your Response : C (Correct)

Question No. 93

T & ¥ Pl T AW, NAN 78 F dc W g &2

A) TG B) YINRIST

C) nfaarETe D) &eIuX

S

Which of the following cities is located on the banks of the river Gomati?

A) Lucknow B) Prayagraj
C) Ghaziabad D) Kanpur
Answer Key : A Your Response : A (Correct)

Question No. 94

ECG T@NT eaifed fega aet # AgqH Far ¢
A) gag B) 9¢
C) #fEas*H D) Jer

9

ECG senses the electrical forces produced by-
A) Heart B) Stomach

C) Brain D) Kidney

SSemxHaaReyy7 A Your Response : A (Cogpfgiheers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

Question No. 95

1313} fr g% T 39T A arelr SHARY B
A) SIET @ ol B) URRIFTA & 3 A1
C) 3RS &T el D) aIvqut gig grAfe

Goitre is a disease caused by-

A) Overeating B) Excessive secretion of thyroxin
C) Deficiency of iodine D) Defective growth hormone
Answer Key : C Your Response : C (Correct)

Question No. 96

iy St FEr # Shan# $uer A fhw Fet A fagga st # agar srar §?
A) TS FST B) SR Fair

C) STeifdegd Fof D) §R Fa

Which energy of fossil fuel is transformed into electrical energy at thermal power plants?

A) Chemical energy B) Tidal energy
C) Hydro electric energy D) Solar energy
Answer Key : A Your Response : C (Wrong)

Question No. 97
farfaf@a & & Fle @ 3R i wnfdd e 82
A) wifeldh B) &Ar
C) #ZAT D) Tifrsarsica

Which of the following affects the stomach?
A) Colic B) Asthma

C) Migraine D) Spondylitis
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Question No. 98

F.60 T AETT arek 20 UAT H, T25 H 5 F qF 9 S9T AT £
gfaerg amer g HifST)

A) B)

33-% 25%

o)) D)

o
15% 665%

20 pens costing Rs.60 are sold at 5 pens for Rs.25. What is the
profit per cent?

A) B)
1 =0
33-% 25%
3
0 D)
66 2 Ve
15% Zo
° 3
Answer Key : D Your Response : D (Correct)

Question No. 99
SSC Adda247 Engineers Adda247



https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

(1213 + 12) =t 13 & FwnfoT FET W 9o AN AT RS
A) 2 B) 1

C) 12 D) 11

Find the remainder when (1213 + 12) is divided by 13.

A) 2 B) 1
C) 12 D) 11
Answer Key : D Your Response : A (Wrong)

Question No. 100

uH 300 HeX F g5 #, P, Q Fr 22.5 A AT 6 IFF & &0 AT §1 Q T@W &l W F&A H
foram s/ w7 AT+

A) 76 A%s B) 78 {3
C) 80 ¥Fs D) 86 @3

In a 300 m race, P beats Q by 22.5 m or 6 seconds. What is Q's time over the course?

A) 76 seconds B) 78 seconds
C) 80 seconds D) 86 seconds
Answer Key : C Your Response : A (Wrong)
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